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1. An NMOS transistor has a threshold voltage,  ௧ܸ ൌ 0.5ܸ and  ݇௡Ԣ

ௐ

௅
ൌ  . ଶܸ/ܣ݉ 0.1

 
a) Determine the required value of ܸீ ௌ for the device to operate in saturation 

with a drain current  ܫ஽ ൌ  .ܣ0.2݉
 
 
 
 
 
 
 
 
 
 
 

ܸீ ௌ = ______________ 
 

 
 

b) Determine the minimum allowable value of  ஽ܸௌ for the device to remain in 
saturation and the corresponding value of the gate to drain voltage, ܸீ ஽. 

 
 
 
 
 
 
 
 
 
 
 
 

஽ܸௌ೘೔೙
 = ______________ 

 
 

ܸீ ஽ = ______________ 
 
 
 

(2pts)

(5pts) 

(3pts) 


